A0, 8]
ST S - STATA[0..8]
STATAI0.7]
u24 u2s
REC L 1 rec
+STATAO 20 3 SIATAO STAJAY 3 20 +STATA4
OA1 DR1 DRL  OAL
__-STATAO 19| [F10 —-STATAZ
STATAD o e — T2 58 oo STATAL
+STATAL 18 4 SIATAL STATAS 4 18 +STATAS
0A2 DR2 DR2  0A2
_-STATAL 17| [z —sTATAS
STATAL O8s pea a1 L =108 o8 STATAS
+STATA2 15 STATA2 STAJAG 15 +STATAG
0A3  DR3 DR3  0A3
-staTa2 14| 533 DR3[6 DR ony [1a —stATAs
e |10 10| er
+STATA3 13 8 SIATA3 STATA7 8 13 +STATA7
OA4  DR4 DR4  OA4
__-STATA3 12 ] [12 —sTATA7
STATA3 o84 pea 1 T o354 o8s STATAT
4536950 4536950
+STATAD 1 8 -STATAQ
+STATAL “STATAL
+STATAZ 3 6 “STATAZ
STATA3 4 5 -STATA3
120SIP RP15
+STATAG 1 8 -STATA4
=STATAS ~STATAS
+STATAG 3 6 ~STATAG
STATAT 4 5 -STATAZ
1208IP RP17
vee
RP19 RP20
ATAC ATA(
+STATA 3 ATA
=STA 4 A
+STATA: 5 ATA3
+STATA TATAA
A A
= STATAC 8 ATA
+STATA 9 ATA
750
+STATAQ 1 L2 -STATAQ c
+ Al 3 a4 - Al
+STATA2 5 6 -STATA?
+STATA! g 8 B
LSTATA g = -STATA R13
+STATAS ~STATAS
=STATAC ~STATA 1K
=STATA] _STATA
ATAB
TAICIO 5]
-SIAICIO 7] >STATC[0..8]
ZSTATCIO 7]
u28 u20
REC [+ 1 rec
+STATCO 20 3 SIATCO STAJC4 3 20 +STATC4
OAL DR1 DR1  OAL
STATCO 19| [[10 —-STATCA
STATCO o e — e e STATCA
+STATCL 18 4 spaTC1 STAJCS 4 18 +STATCS
0A2 DR2 DR2  0A2
STATCL 17 | [z -sTATCS
STATCL oB2 Des [s T 5] bes OBs STATCS,
+STATC2 15 SJATC2 STAIC6 15 +STATC6
0A3  DR3 DR3  0A3
STATC2 14| |14 -STATCE
STATC2 oBs  Dta e T e bes o83 STATCE,
e |10 10| er
+STATC3 13 8 SATC3 STAJCT 8 13 +STATCT
OA4  DR4 DR4  OA4
STATC3 12 ] 9 9 [[12—sTATCT,
STATCS OB4 DE4 DE4  OB4 STAICL
4536950 - 4536950
+STATCO 1 8 -STATCO
=STATCL “STATCL
=STATC2 3 6 “STATC2
STATCS 4 5 -STATC3
1208IP RP23
+STATCA 1 8 -STATCA
=STATCS ~STATCS
=STATCE 3 6 -STATC6
=STATCT 4 5 -STATC7
120SIP RP25
vee
RP27 RP28
- 0 - 0
: 3 3 -
T 2 2 E
+ 3 5 -
: 5 3 -
T 8 5 E
+ 9 9 -
0 vGe

i
STAEOT ol - STATB[0..8]
+STATBIO.7]
u26 v27

REC [+ 1 rec
N_| sstateo 20 3 SIATBO STAJB4 3 20 +states | /]
. OA1 DR1 DR1  OA1 5
STATBO o e — s STATBA

N_| :stater  1a 4 SIATBI STATBS 4 18 +states | /]

0A2 DR2 DR2  0A2
-STATBL o082 pea a1 L =108 o8 -STATBS

N | sstate2 15 STATB2 STATBS 15 +states | /]

0A3  DR3 DR3  0A3
-STaTB2 14| 983 DRS R oy [1a—statee
e |10 10| er
N :states 13 8 SIATB3 STAJB7 8 13 sstater |/
OA4  DR4 DR4  OA4
-STATB3 o84 pea 1 L ol 354 ops -STATBT
4536950 e 4536950
+STATBO 1 8 -STATBO
+STATBL -STATBL
+STATBZ 3 6 ~STATB2
+STATB3 4 5 -STATB3
120SIP RP16
+STATB4 1 8 -STATBA
+STATBS “STATBS
+STATB6 3 6 ~STATB6
=STATBZ 4 5 -STATBZ
120SIP RP18
vee
RP2L RP22
A ATBO
+STA ATBL
+STA ATB2
+STA ATB3
+STAT ATBs /]
A ATBS
+STA ATB6
STA ATBT
+STA T80 Ve
+STA TBL
+STA \TB2
STA 183
+STA T84 R14
+STA 785
STA 786 1K
+STA 787
ATBS
TAIDIO
e > STATD[0..8]
ZSTATDIO 7]
u30 3L
REC [ 1 rec
+STATDO 20 3 SIATDO STATD4 3 20 +STATD4
OAL DR1 DR1  OAL
SSTATDO 19| [[1o —-STATD4
STATDO o — s STATDS
+STATDL 18 4 S]ATD1 STAJDS 4 18 +STATDS
0A2 DR2 DR2  0A2
STATDL 17 | |1z -STATDS
STATDL oBs Dbs [s T 5] bes OBs STATDS,
+STATD2 15 SJATD2 STAJD6 15 +STATD6
0A3  DR3 DR3  0A3
STATD2 14| [ 14 -STATDS
STATD2 oBs  Dta e T 6] bes oBa STATDS,
e |10 10| er
+STATD3 13 8 SJATD3 STAJD7 8 13 +STATD?
OA4  DR4 DR4  OA4
-STATD3 12 ] [12-STATD7,
STATD3 o84 pea 1 L ol 354 ops STATD?.
4536950 - 4536950
+STATDO 1 8 -STATDO
=STATDL “STATDL
~STATD2 3 6 ~STATD2
+STATD3. 4 5 -STATD3
120SIP RP24
+STATDA 1 8 -STATDA
~STATDS ~STATDS
+STATD6 3 6 -STATD6
+STATD7. 4 5 -STATD7
120SIP RP26
vee
RP29 RP30
+STATDO - 0
+STA 3 3 N
+STA 4 4 -
+STA 5 5 N
+STA 6 6 N
LSTA -
STA 8 ] -
+STA 9 9 N
+STATDO Ve
+STA
STA
+STA
+STA R16
+STA
STA 1K
+STA
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